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COMMERCE AND ACCOUNTANCY

Papexr 11
Time : 3 Hours Maxinmium Marks : 150
Note — Attempt five questions in all. @. No. 1 is compulsory.

All gquestions carry egual marks.
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1. Explain with suitable example : 30
‘(a) Seasonal Working Capital
() Economic Order Quantity
{(c) Guarantee Contract

(d) Flexible Budget.
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( 2 ) Comm. & Acco.-11

Critically examine the Business. Economic and
International Environments for the growth of trade
and commerce in the present Indian Scenario. 30
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Compare and contrast the Maslow and Herzberg
theories of motivation. On what grounds has the
Herzberg theory been ecriticized ? 30
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Discuss the rights of consumers under Consumer
Protection Act. Explain the prescribed procedure adopted
by Districi Forum for redressal of consumer grievances

under the Consumer Preotection Act, 19886. 30
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{ 3 ) Comm. & Acco.-II

Discuss critically the present Industrial Policy of

Government of India. What are i1ts recent

trends ? 20

Outline the new economic policy of Government
of India. 10
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Distinguish beiween Memorandum of Association
and Arsticles of Association. 15

Describe the liability for mis-statement in

prospectus. 15
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{ 4 ) Comm. & Acco.-II

p Evaluate the role plaved by the Securities and
Exchange Board of India (SEBI} in reforming the
working of Stock Exchanges. Is there any government
control on the working of Stock Exchanges in

India 7 30
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8. Write notes on . 3x10
{a) Private Limited Company
(&) Management by Objectives
{c) Broad functions of IMF.
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